Answers

l0op — 93p = 2p @

Sop — 40p = op

B0p — 7Sp = Sp

70p — é9p = Ip

100p — 37p = 63p g“"’é

Jake has been given the wrong change. =

The shopkeeper has given him 10p too much because they have made a mistake
in their calculating or got the number bonds to 100 wrong.

100p - 2p = S3p Children choose a combinations of coins that total $3p. For
example: Sop + Sp + 2p + Ip

She will need to use all her three coins to pay.
N

90p — 78p = 12p

She will get 12p change.

Children choose any combination of coins that total 12p. These could include:
lop + 2p

lop +Ip + Ip

Sp+Sp+2p

Sp+Sp+ip+ip

2p+2p+2p+2p +2p +2p

W visit twinkl.com



https://www.twinkl.co.uk/resources/white-rose-maths-resources/year-2-white-rose-maths-resources-key-stage-1-year-1-year-2/autumn-block-3-money-year-2-white-rose-maths-resources-key-stage-1-year-1-year-2

